Rsa

Rsa (mm)
(mm)
8.8.26 100 (112.3) 80.1 (80.1) —
16.10.18 60 (65.5) 40 (36.2) 45 (37.4)
Rsa
H8.8.26
Rsa(mm)
55 < 100 97.379 = 56
300 < 100 97.379 = 308
50 < 100 97.379 = 51
150 =< 100 97.379 = 154
55 < 80.1 98.254 = 45
300 < 80.1 98.254 = 245
50 < 80.1 98.254 = 41
150 < 80.1 98.254 = 122
H16.10.18
Rsa(mm)
55 < 60 97.379 = 34
300 < 60 97.379 = 185
50 < 60 97.379 = 31
150 < 60 97.379 = 92
55 < 40 98.254 = 22
300 < 40 98.254 = 122
50 < 40 98.254 = 20
150 < 40 98.254 = 61
55 < 45 86.853 = 28
300 < 45 86.853 = 155
50 < 45 86.853 = 26
150 < 45 86.853 = 78




(mm)

190 207
8.8.26
193 204
271 551 2904
16.10.18
267 553 2907
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